
 

 

 

  
 

  

    
 

 

      

 

 

         





 
 

         

 –   – 
 

    
 

QBASIC    

–(X)(Y) 

–(X)(Y)  
–(n1,n2) 

–(R)(R) 
 

   
         

 –  – – 
 

QBASIC     

 

 



 

 

 

         

–  – 

–  – 
 

          

 – 

 – 

 – 
 

   
QBASIC  

            

1) 
IF N > 0 THEN B = Int(N / 4)  
IF N < 0 THEN B = ABS(N – 4) 
IF N = 0 THEN B = Fix(N / 4) 
PRINT B 

 

2) 
Y = 0 
IF X MOD 5 = Y THEN Print X 

FIX 

3) 
FOR C = 1 TO 30 
  IF C MOD 3 = 0 THEN SUM = SUM + C 
NEXT C  

 

(step 3) 

4) 
A = X – 2  
C = 3 * A 
PRINT  
PRINT C 

 

 

     



 

 

 

   

 

 

          

QBASIC      

Remark INT(X) 
stepFOR–NEXT (ESC) 

 

   

 

(ATM) 

 

(Skype) 

 

 

 

 

 

  

(1) int(–4.6) ^ 2 <= 23 mod 5 + 29 – 7 
(2)  sqr(((9 + 7) /(4 * 2))+ 2)– Fix(–3) 
(3) (10 – 4*2) \ 2 + (–13 mod 2*2)^ 3 

        

 

 

(Redo from start) 

QBASIC 



 

 

 

   
        

 
 

 

...)
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2
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2
31(100   

 

 

 
 

 

    
 

QBASIC 

           

(1) 
PRINT SQR(155)/(155) ^ 0.5 MOD 2, 
REM  PRINT CLS ; "Final Exam" 
REM$ = "DAN" 
PRINT "JORD" + REM$ ;  

(2) 
For N = 3 to N + 4 Step 2  
  N = N – 1  
  Print N , 
Next N 

(3) 
IF one = two – 1 Then 
   M = 4 
   End  
End if 
Print M /(B – B) 

(4) 
FOR S=3 TO 9 Step 3 
   S= F+2 
   F= S+2 
Next S 
Print S , F 

 

      

SAMER JDAIE' 


